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NOTE:.

D)
i)
i)

iv)

Q.1

Q.2

Q.3

Q.4

Q.5

Question No. | is compulsory.

Attempt any three out of the remaining five questions.
Figure to the right indicates full marks

Assume suttable data if required.

Work out the quantities of following items from given plan & sceuon. (Fig 01) 20
a) Excavation for footings
b) Brick work (C:M= 1:6) in super structure ol ground {loor
¢) Concrete (M20) in footings
d) 20 mm thick External plastering in C:Nvi= 1dl upto tervace !
A). What is task work? Hiustrate with an example. Pertoris
masonry in cement mortar 1:6 b

‘\t.‘l.

rate analvsis for UICR 8

B). What 1s the difference between briet specification and detailed specitication of an 8
item? Explain with an example. E

C). Define mass diagram. Explain the use of mass diagram 4
A). Enlist different methods of calculating approximate estimate with suitabibity”? Prepare 8
an approximate estimate of cost for (G+2) RCC tramed structure building. There are tfour
flats on each floor and having carpet area of 1200 sqft cach  Consider cost of construction

of super structure = Rs. 850/sqft. Assume ather required data,

B). Explain in detail the different types et tenders with suitability and advantages. 8
C). What is the purpose of rate anaiysis? Prepare the abstract of items of question 4
number.01

A). A concrete mixture was purenased for Ry 601

s, Assumine the salvace of Rs. 3 e 8
at the end of 11 years. Calculais. book value and depreciation at the end ol first ive vears

by constant percentage methed, )

B).What is a contract? What arethe diftferent types of civil engineering contract”? State the 8
suitability of Item rate contract. Tlow does the contractor quote the rate and get pavment

in item rate contract’?

C). Enlist dittferemn methods for valuation ol fand?” Explain Belunge method ol valuaton 4
tor tand with ar sxample '

A). Determine the quantities of earthwork for the portion of a road between chainages 30 10
and 60 from the following data, length being measured with a standa

————— I 2 b —

rd 20 m chain:-

T T —
: 2 N I . e | = | = i i | - | !
chainage 50 E 51 0 82| 53 .54 | A5 ;‘E 36 | 87 38 | S o
- | | { i i i
e e e | —1 = i i 5 R S e
C.L. i 15000 1312 11509 Pasr2 bhso.s | 1307 11306 1 1304 D290 12951 1297
= s b I |

. gt - — Y I " [rsite e | AT o By e
The tormation level at chainage 30 is 130.0 and the road is in a vising eradient ol 1 in 200,
'he width of tormation is 10 m and side slope is L1 i embankment and 121 i catting.
the lateral slope ot the cround may be assuwmed as level Caleulate also the cost ol this
carthwork 1 bank and cutting

Assume suntable rates and also diaw the mass diagram
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B). For a beam of span 5.0 m.and ¢ross section 230 mm x:500 mm, is reintorced with 2- 6
120 at top and 4-16 O at bottom out ofiwhich two bars are bent-up and stirrups 8 @ @
150 c/c. Calculate the quantity and ¢ost 0f materials (Steel, cement. sand, aggregates).
C). Write a note on IS 1200 ° : i

Q.6 Write short notes on (any five) i 20
a.-Role of a quantity surveyor
b.-Price escalation clause of contract i

¢.-Eamest money deposit

d.- Arbitration

¢.- Technical sanction

t.- Difference between center line method and
| long wall-short wall method
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